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2. Lebendgeborene, Gestorbene und Geburtenüberschuß je 1000 der Bevölkerung 

1946, 1950, 1953 bis 1956

1946 1950 1953 1954 1955 1956

Luxemburg
Lebendgeborene ...................... 15,3 14,8 16,0 16,3 16,1 16,4
Gestorbene ............................... 12,6 11,6 12,5 11,4 11,3 12,5
Geburtenüberschuß ................ 2,7 3,2 3,5 4,9 4,8 3,9

Niederlande
Lebendgeborene ...................... 30,2 22,7 21,8 21,6 21,4 21,2
Gestorbene ............................... 8,5 7,5 7,7 7,5 7,6 7,8
Geburtenüberschuß ................ 21,7 15,2 14,1 14,1 13,8 13,4

Norwegen
Lebendgeborene ...................... 22,6 19,1 18,7 18,5 18,7 18,7
Gestorbene ............................... 9,4 9,1 8,5 8,6 8,3 8,5
Geburtenüberschuß ................ 13,2 10,0 10,2 9,9 10,4 10,2

Österreich
Lebendgeborene ....................... 15,9 15,6 14,8 14,9 15,6 16,4
Gestorbene ............................... 13,4 12,4 12,0 12,1 12,2 12,3
Geburtenüberschuß ................ 2,5 3,2 2,8 2,8 3,4 4,1

Polen
Lebendgeborene ....................... 30,7 29,1 29,0
Gestorbene ............................... 11,6 • 10,3 9,6.
Geburtenüberschuß ................ 19,1 18,8 19,4

Portugal
Lebendgeborene ...................... 25,4 24,4 23,4 22,7 23,9
Gestorbene .............................. 14,9 12,2 11,3 10,9 11,3
Geburtenüberschuß ................ 10,5 12,2 12,1 11,8 12,6

Saarland
Lebendgeborene ...................... 12,7 19,5 18,9 18,9 18,0
Gestorbene .............................. 11,9 9,7 10,5 9,6 10,1
Geburtenüberschuß ................ 0,8 9,8 8,4 9,3 7,9

Schweden

Lebendgeborene .................... 19,7 16,4 15,4 14,6 14,8
Gestorbene ............................... 10,5 10,0 9,7 9,6 9,4
Geburtenüberschuß ................ 9,2 6,4 5,7 5,0 5,4

Schweiz

Lebendgeborene ...................... 20,0 18,1 17,0 17,0 17,1
Gestorbene ............................... 11,3 10,1 10,2 10,0 10,1
Geburtenüberschuß ................. 8,7 8,0 6,8 7,0 7,0

Spanien

Lebendgeborene ...................... 21,6 20,2 20,6 20,0 20 6
Gestorbene ............................... 13,0 10,9 9,7 9,1 9,4
Geburtenüberschuß ................ 8,6 9,3 10,9 10,9 11,2

UdSSR

Lebendgeborene ...................... =) 31,7 26,5 24,9 26,5 25,6
Gestorbene ............................... 2) 18,3 9,6 9,0 8,9 8,2
Geburtenüberschuß ................ 2) 13,4 15,9 15,9 17,6 17,4

Algerien
Moslemische Bevölkerung

Lebendgeborene ................... 42,3 39,5 41,1 40,5
Gestorbene ............................... 31,1 14,7 13,2 13,2
Geburtenüberschuß ................ 11,2 24,8 27,9 27,3 1

Europäische Bevölkerung

Lebendgeborene ....................... 22,0 20,7 18,7 19,1 18,8
Gestorbene .............................. 13,4 9,9 8,8 8,8 3,1
Geburtenüberschuß ................ 8,6 11,8 9,9 10,3 9,7


